

$$\frac{ax-1}{x^2+1} = \frac{x+\alpha}{x} \Rightarrow x^2 + 14x + \alpha = \sqrt{a}x - \sqrt{a}$$

$$\Rightarrow x^2 + x(14 - \sqrt{a}) + 1 = 0$$

$$\Rightarrow x^2 + \frac{x(14 - \sqrt{a})}{1} + 1 = 0$$

$$(x-1)^2 + x^2 - \epsilon x + 1$$

$$\Rightarrow \frac{14 - \sqrt{a}}{1} = -\epsilon \Rightarrow 14 - \sqrt{a} = -1 \Rightarrow \boxed{a = 1}$$

معمولا در این صورت

$$g'(x) = (x \tan x - \sqrt{x} \ln x) f'(x \tan x + \sqrt{x} \ln x) - 1$$

$$g'(\frac{\pi}{4}) = (1 - (\sqrt{\pi})(\frac{\sqrt{\pi}}{4})) f'(1 + (\sqrt{\pi})(\frac{\sqrt{\pi}}{4})) = \sqrt{\pi}$$

$$\Rightarrow \boxed{f'(1) = \sqrt{\pi}}$$

$$f(x) = x'' + ax - b \Rightarrow f'(x) = x'' + a$$

$$f'(1) = 0 \Rightarrow 1 + a = 0 \Rightarrow a = -1$$

$$f(1) = 0 \Rightarrow 1 + a - b = 0 \Rightarrow 1 + (-1) - b = 0 \Rightarrow b = -1$$

$$b - a = -1 - (-1) = \boxed{-2}$$

$$f(x) = x g(x) \Rightarrow \frac{1 + a x^2}{x - a x} = \frac{x^2 + a x^2 + c x}{x - a x}$$

$$\Rightarrow f(x) = x g(x) = \frac{a x^2 - c x}{x - a x} = -a x$$

$$\Rightarrow h(x) = -a x \Rightarrow h'(x) = -a$$

$$\Rightarrow h'(\frac{\sqrt{\pi}}{4}) = -a = \boxed{-\frac{1}{4}}$$

$$f(x) = x^n (x^2) \Rightarrow f'(x) = n x^{n-1} (x^2) + x^n (2x)$$

$$\lim_{x \rightarrow 0} \frac{f'(x)}{(1-x)^m} = \frac{2x^{n+1}}{(1-x)^m}$$

$$(1-x)^m \rightarrow \lim_{x \rightarrow 0} = 1$$

$$f'(x) = x \cdot \frac{\sqrt{x+1}}{\sqrt{x-1}} \Rightarrow f'(x) = (\frac{x+1}{x-1})^2$$

$$f'(x) = x \left(\frac{x+1}{x-1} \right)^2 \left(\frac{-1}{(x-1)^2} \right) \sim x \left(\frac{x}{x-1} \right)^2 \left(\frac{-1}{(x-1)^2} \right)$$

$$(x)(x)(x) = \boxed{1}$$

$$\text{if } x > \frac{\sqrt{a}}{2} \Rightarrow f(x) = (x - \sqrt{a}) \sqrt{a x}$$

$$f'(x) = \sqrt{a} \sim f'(\frac{\sqrt{a}}{2}) = \sqrt{a} \cdot \frac{1}{2} = \frac{\sqrt{a}}{2}$$

$$\text{if } x < \frac{\sqrt{a}}{2} \Rightarrow f(x) = (\sqrt{a} - x) \sqrt{a x}$$

$$f'(x) = -\sqrt{a} \sim f'(\frac{\sqrt{a}}{2}) = -\sqrt{a}$$

$$\Rightarrow \sqrt{a} - (-\sqrt{a}) = 2\sqrt{a} \Rightarrow \sqrt{a} = 1 \Rightarrow a = 1$$

$$\Rightarrow (1)(1) = (1)(1) \Rightarrow \boxed{a = 1}$$

$$y = -ax + 1 \Rightarrow f'(x) = -a$$

$$f(x) = -ax + 1$$

$$f(x) + f'(x) = -ax + 1 - a = -1$$

$$\Rightarrow a = \frac{1}{2} \Rightarrow \boxed{f'(x) = -\frac{1}{2}}$$

$$f(x) = (x^2 + 1)^2 (ax + 1) \Rightarrow f(0) = 1$$

$$\hookrightarrow f(-1) = 1 - a$$

$$\Rightarrow \frac{f(0) - f(-1)}{0 - (-1)} = -1 \Rightarrow \frac{1 - (1 - a)}{1} = -1$$

$$\Rightarrow a = -1 \Rightarrow f'(x) = 2(x^2 + 1)(2x) + (-1)(x^2 + 1)^2$$

$$\Rightarrow f'(1) = 2(1)(2) + (-1)(1) = \boxed{1}$$

$$f\left(\frac{\pi}{4}\right) - f\left(\frac{\pi}{2}\right)$$

$$\frac{\pi}{4} - \frac{\pi}{2}$$

-6

$$\cancel{2^{\frac{\pi}{4}} a^{\pi}} - \cancel{2^{\frac{\pi}{2}} a^{\frac{\pi}{4}}}$$

$$(\cancel{2^{\frac{\pi}{4}} a^{\frac{\pi}{4}}}) - (\cancel{2^{\frac{\pi}{2}} a^{\frac{\pi}{2}}})$$

$$= \frac{-1}{1} = \boxed{-1}$$